
Facitliste, Calc prøveeksamen 2

(1) 2x+ 4
3x

3.

(2) • ∇F =

 4x3 + 4xy2z2

4 y3 + 4x2yz2

4 z3 + 4x2y2z


• 20(x− 1)− 20(y + 1) + 40(z − 2) = 0.

(3) • m =
∫ π

0

∫ 2

0
r2drdθ =

8
3
π

• ȳ =
1
m

∫ π

0

∫ 2

0
r3 sin θdrdθ =

3
π
.

(4) • 4 rødder

• [w = 3, i]⇒ z ∈ {±
√

3,±
√

2
2

(1 + i)}.

(5) • D = {(x, y) : x2 + y2 ≤ 1/4}.
• fx =

−8x√
1− 16x4 − 32x2y2 − 16 y4

, fy =
−8y√

1− 16x4 − 32x2y2 − 16 y4
.

(6) • (0, 0)
• Max: 1, Min: -1.

(7) • y (x) = e−x + e−xx

• yp(x) = −1/2− 3
50

cos (2x) +
2
25

sin (2x) +
1
9

e2x.

(8) κ(t) =
15

[25− 16 cos2 t]3/2
.

(9) 3. mulighed er OK.

(10) F,F,S,F.

(11) F,S,F.

(12) f(θ) = 2 + 2 cos(4π), 0 ≤ θ ≤ 2π.
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